Box and Whisker TI Calculator
Given the data set {85, 100, 97, 84, 73, 89, 73, 65, 50, 83, 79, 92, 78, 10}, create a box and whisker plot to
represent this data.

1. CLEARout | 2. Enter the data intothe | 3. There are two icons for Box-and-Whisker Plots. Choose
the graphs calculator the second icon for beginning level work.
undery = (or lists. Choose STAT, #1 Press 2nd STATPLOT and choose #1 PLOT 1. You should
turn them off). | EDIT and type in entries. see the screen that follows. Be sure the plot is ON, the
second box-and-whisker icon is highlighted, and that the
list you will be using is indicated next to Xlist. Freq:1
means that each piece of data will be counted one time.
Plotz Plot: 4. To see the box-and-whisker plot, 5. The calculator ignores
Eﬂﬁ? . press ZOOM and #9 ZoomStat. Press y-values when plotting
dFes l,ﬁ;‘ E & the TRACE key to see on-screen data about the | box and whiskers. You
Y“listilLs box-and-whisker plot. The whiskers extend can plot up to 3 box-and-
Freq:1l - from the minimum data point in the set to the | whisker plots on one
first quartile, and from the third quartile to the | screen display. The first
maximum point. The box itself is defined by will be at the top of the
Q1, the median and Q3. The star will jump screen, the second in the
FaiL [.D_< from the minimum value to Q1, to median, to | middle and the third at
1 Q3 and to the maximum value. the bottom.
Hed=A1

TI Calculator Stats Sheet
Find the mode, median, mean, lower quartile, upper quartile, interquartile range, and population standard
deviation for the data set {13, 3, 10,9, 7,10, 12, 8,6, 3,9,6,11,5,9, 13,8, 7, 7}

1. Enter | | Lz L 1| | 2. Go to STAT - CALC #11- EDI TIJH;]% TESTS
the 'R S Var Stats. Then choose L1. 1-War Stats
data E s 2-War Stats
- 10 SiMed-Med
intoa 2 diLinFeacaxthl
list 10 2 uadEea
12 E:CubickEed
Li={13:3:18.3.7 .. 7 4HuartReg
X' =mean 1-Jar Stats 1-Var Stats
2 ¥ =sum of the data =2, 2168526316 Th=1%3
>+*  =sum of squares of the data %}::? 1 ?336 B}Q:"i:E
S = sample standard deviation we= i
T sample " S%=2.935963733 | || Med=adx
& X = population standard deviation S D:z=16 .
n =sample size (# of pieces of ¢g§ 1 % - HI7BIFEIT maxH=13 Meidian
data)
min X = s_mallest d_ata entry Mode = 7, 9 Interquartile range = 10 — 6 = 4
{4 = first quartile Median = 8 Population
med = median (second quartile) Mean = 8.21 standard deviation = 2.86
{2 = third quartile lower quartile = 6
max X = largest data entry upper quartile = 10




